RiEZEEH

=4 R6G#H AR WARAK2H

- 81 THE (G EREER)

Aol

ORBIERO

TERS KEIE

B {ff tth X ESHER ,I_M%

B i 55 P 4F 4H649A RESZER] IIANLSNEORRTCEHERTIEED

N - E?‘Fﬁ Vol D—ERTHY ., FEENEHWRTLSLD
TIEA L,

AIEXHEE 35%EHBZ A%NLUTDIHE

LR LR BEEVELLENES

RISRERER FELAL




1/

2)




2/

2)




1/

3)

35%

40%

0.00




2/

3)

1.000

1.000

10

11

12




3/

3)

13

14




1/

1

.000

.000

.000

.000

.000

.000

.000

.000

-000




1/

1

1.000

1.000

1.000




1/

3)

.000

.000

381

.000

.000

.000

50.

000

.000

.000

1,875.

000

.000

-000




2/

3)

6.0




3/

3)

.000

.000

274

m3

42

m3

42

m3

858

.000

858

.000

534.

000

10

VP@ 125

36

.000

11

.000

m3

12




1/

5)

1.000
SP
1.000
1.000
.100 1.000
1.000

1.000




2/

5)

4
1.000
SP
A (120x 120x 600), 1.000 11
5
m3 1.000 m3
SP
1.000 m3 6
6
m3 1.000 m3
SP
0.28m3( 0.2m3), ,1.0k 1.000 m3 7




3/

5)

7
m3 1.000 m3
SP
). (10,000m3 ). 1.000 m3 10
8
1.000
1.000 5
9
1.000
1.000 5




4/

5)

10
1.000
(
1.000
11
VP 125 1.000
VP, 125mm, ( ),4.0m .0 0.500
12
m3 1.000 m3
SP
0.28m3( 0.2m3), ( ,13.0 1.000 m3
km
1.000 m3




5/

5)




1/

6)

1
m3 1.000
:8.0 :0.0
:0.0 8
1 : :0.0
2) :0.0
3)
1.000 m3
1.000
2
1.000
:8.0 :0.0
,100 = :0.0 8
1 : :0.0
2) 100 :0.0
3) -
1.200

1.000




2/

6)

3
10.000
:8.0 :0.0
VP,125mm, ( ).4.0m ,0 :0.0 4 8
1 VP : :0.0
2) (mm) 125mm :0.0
3) (
4) 4.0m
5) 0
VP 125 4.0m 2.440
0.020
0.090
0.130
0.190
10.000
4
( ) 100.000
( ) :8.0 :0.0
:0.0 4 8
1 : :0.0

:0.0




3/

6)

0.070
< >
0.290
0.800
0.060
14% 0.140
100.000
100.000
:8.0 :0.0
:0.0 4 8
1 : :0.0
2) :0.0
0.320
100.000
SP mn3 1.000 m3




4/

6)

SP

:8.0

:0.0

:0.0

:0.0

:0.0

D
2)

3)
4)

5)

m3

SP

m3

1.000 m3

SP

0.28m3(

0.2m3),

(

:8.0

4

:0.0

8

s ,1.0km

:0.0

:0.0

:0.0

iy
2)

0.28m3(

0.2m3)

3)
4)DID

)

5)

1.0km

m3

SP

mn3

1.000 m3




5/

6)

SP
0.28m3(

0.2m3),

(

:8.0

:0.0

, ,13.0km

:0.0

:0.0

:0.0

D
2)

0.28m3(

0.2m3)

3
4)DID

)

5)

13.0km

m3

SP

1.000

SP

:8.0

:0.0

:0.0

:0.0

:0.0

iy
2)

3)
2)

5)

10

SP

mn3

1.000 m3




6/

6)

SP

( ). (10,000m3

).

:8.0

:0.0

:0.0

:0.0

:0.0

D
2)

¢ D
(10,000m3 )

3)
4)

m3

11

SP

1.000

SP

LA (120x 120x 600),

:8.0

:0.0

:0.0

:0.0

:0.0

)
2)

A (120x 120x 600)

3
4)

5)




RIREH—ER

IE4 RE6EH A< FBAK2E FHF1IFFBVFHERR)

B R i By B wE
nog E m3 12,000 |:EHkEERE L=10.2km
EEIEES 4BE8REEMIE = 13,000
HBRHES (FELSD) 4BSAREBMIE = 0




P AR K B No. 1+45. 0fF YT ~No. 5+40. 0FF3T e o

I@@% H o - H KL ¥ | BNl O WOB
AL BT

(O X MIL=190. 6m : No. 1+45. 0~No. 5+40. 0f3IT)

B Y 381 | m2
Wi L

(L=10. Om : No. 53T} UNo. 6413fT)

T ART. 50 | m2
BEHIAE 1R T
BEHUIE IR Hhk 1,875 | m2

(HEOL=6. Om : No. 2f+73T)

e 7 0y o R o7 w7 1008 6| m
ik L

(IO X BIL=190. 6m : No. 1+45. 0~No. 5+40. 0f3IT)

IRERE SR L=190. 6m .o K«
Al Ly - 274 | w3
AL Bl NS e 42 | m3
TATY—HFO 294 (N/5cm) 858 | m2
TART— (2 T AR 858 | m2
FART—1(3) F LA 1k 534 | m2
JEE FE LR e~ 7 0.70 | t




FAEREMERAK I (No. 1+45. 0FF3E~No. 5+40. OfF3T)

B0

(1.05%%4 1)

CA O &t = = ¥ & | HAL
I L BT
(VX HL=190. 6m : No. 1+45. 0fF3~No. 5+40. 01 T)
TR R TE A=ERRIE R X i TiERE
A=190. 6%2. 0 = 381. 381.2 | m2
il T
(L=10. Om : No. 53T & UNo. 644 3T)
7 AR A= TIE £ X Jif TR
A=5.0X5.0+5.0X5.0 = 50. 50.0 | m2
HrfE A T
PrE R Pt £ S 1
1875. 27 = 1875. 1,875.3 | m2
EHERT
(FFE ¥V OL=6. Om : No. 243T)
o7 a7 3RE L=7"1 v 7 (120%120%600) /{& X 104
A=0. 610 = 6. 6.0 | m
% T
(VX HL=190. 6m : No. 1+45. 0fF3~No. 5+40. 01 T)
IR B B R L=190. 6m .o | =X
ef Sl e A t=10cm A=TE B IE 5 X PR HIIE X PR HI i <
A=190. 6+%3. 1%0. 1 = 59. 59.1 | m3
7% AR E & PR A=[X[H (2) (m) X HHI g (m) X 0. 20 (m)
A=190. 6+3. 10. 2 = 118. 118.2 | m3
% PR H X (1)
97. 97.0 | m3
B i+ A=Rrn S ) B+ R iR B — R g < 0.3
A=59. 1+97-381. 2%0. 3 = 41. 41.7 | m3
AR — 1) [294(N/5cm) A=[X [ (2) (m) X (Y 1 E -+ IR X 238530 X 2) (m)
A=190. 6% (3. 1+0. 2%2+0. 5%2) = 857. 857.7 | m2
+ART— R Q) TR A=TE B IE R X (R HI W +HE HI5E X 2+5530 X 2)
A=190. 6% (3. 1+0. 2%2+0. 5%2) = 857. 857.7 | m2




% W oK & B =V ¥ & |[HAr
A= @) [RELMEBHIE  (A=ERIER X HERIE
A=190. 6%2. 8 = 533. 7 533.7 | m2
IR BUKER/E VP ¢ 125 14. 0+12. 0+10. 0 = 36.0 36.0 [ m

JE FEALER BT W=(+AT— k(1) (m2) X0. 15 (kg/m2) + A

T — F(2) X0.35(kg/m2) + AR — K (3) X
0. 212 (kg/m2) +VP125 X 4. 464 (kg/m) ) /1000

W=(857. 7x0. 15+857. T*0. 35+533. 7+0. 212+36%4. 464) /1000 = 0.7 0.7 t

0. 7/0. 35=2. 00m3




